KFEORBPIRER

ZEMOBOBEMEMKS, TH. PEBEERTROLETLTROLSICEUET,

(1kWh=860kcal)

M £ #® kcal F cal # MKS &
(kecal) (cal) (J)
1 10° 4.186X10°
# L 102 1 4.186
0.2389X10° 0.2389 1
[ e (kcal/h) (calls) (W)
: 1 0.2778 1.163
ﬁ* i 3.6 1 4.186
0.86 0.2389 1
(kecal/m—h—"1C) (callcm—s'C) (W/m—1C)
2 1 0.2778X10-2 1.163
l e R 360 1 4.186X10
0.86 0.2389X10~2 1
{(m—h—"C/kcal) % “"{cm—s—“cmai) (m—"C/W)
1 360 0.86
# ok B A 0.2778X 10 1 0.2389X102
1.163 4.186X107 1
i (kcal/lm*—h—"C) (callem?—s'C) (W/im?—"C)
1 0.2778X10* 1.163
R E R R = 3.6X10¢ 1 4.186X10*
0.86 0.2389X10* 1
{(m*—h—"C/kcal) {cm?—s—C/cal) (m—"C /W)
. 1 3.6X10¢ 0.86
R @k ®ER 0.2778X10~* 1 0.2389X10*
' 1.163 4.186 X10° 1
(kcallkg—'C) (callg—C)  (JKg=T)
it i 1 1 418610
0.2389X10* 0.2389X10~* 1
(kg/m?) (g/em?) (kg/m?)
B i3 1 10-2 1
10° 1 10°
(kcallm*—="C) (callem—"C) (Jim*—"C)
1 10~ 4.186X10°
G L R 10° 1 4.186X10°
0.2389X10~* 0.2389X10-° 1
(mé/h) (cme/h) (mifs)
: - 1 0.2778X%10 0.2778X10-
2 E = i = 0.36 1 10—+
0.36X10° 10¢ 1
{=

MZWEDY (callom—s—TC) TEHEZATVL318S
(kcalm—h—"TC) ICERH T 3(CI2360%FL D&,

(Wim—"C) (CH T 32134186 X105 F|L B &,

ROMIZHE (11 (callem—s—"C). 360(kcallm—h—T). 4186(Wm—T) T 3,

EHhEOTOT—2, L ER, FHROMEMRICLY FEL(EBTILFHNET,



